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QUESTION 1

What stores information about logons, user actions, and the resulting events in the most concise way?
A. Event annotations

B. Session Lists

C. Active Lists

D. Cases

Correct Answer: B

QUESTION 2

At most, a zone can belong to how many networks?

A. 0 (Zones do not belong to networks, zones contain networks.)
B.1

C.2

D. as many as needed based on the Network Model

Correct Answer: B

QUESTION 3

Which statement is true about starting and stopping ArcSight SmartConnector services?

A. They are started and stopped independently of the other ArcSight component services.

B. The order in which they are started and stopped is based on event flow.

C. How they are started and stopped depends on whether or not the ArcSight Manager is running.
D. They are started and stopped in conjunction with the Oracle database services.

Correct Answer: A

QUESTION 4
Which statements are true about escalation levels? (Select two.)
A. Custom escalation levels can be added at anytime.

B. They must be defined separately for each notification type.
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C. New escalation levels are added to the beginning of an escalation level sequence.
D. They are contained in notification group configurations.
E. They must be created in the order in which you want escalation to proceed.

Correct Answer: BE

QUESTION 5

What is a bundle?

A. a set of resources that makes up a package

B. a data transmission containing SSL information
C. a set of raw log events before they are parsed
D. a container for one or more packages

Correct Answer: D
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